
Quest ce que le cadeau  I' - ? ( )Quel nombre se trouve dans chaque cadeau?
68 ÷ 17 = 180 ÷ 15 = 96 ÷ 16 =70 ÷ 14 = 143 ÷ 13 = 200 ÷ 20 =66 ÷ 11 = 221 ÷ 13 = 39 ÷ 13 =156 ÷ 12 = 171 ÷ 19 = 195 ÷ 15 =160 ÷ 20 = 27 ÷ 9 = 60 ÷ 10 =190 ÷ = 19 108 ÷ = 18 156 ÷ = 1249 ÷ = 7 10 ÷ = 2 285 ÷ = 15162 ÷ = 9 195 ÷ = 13 112 ÷ = 16255 ÷ = 15 198 ÷ = 11 266 ÷ = 19306 ÷ = 17 28 ÷ = 7 78 ÷ = 13÷ 9 = 16 ÷ 19 = 19 ÷ 12 = 16÷ 10 = 8 ÷ 11 = 11 ÷ 8 = 6÷ 14 = 16 ÷ 11 = 4 ÷ 9 = 13÷ 2 = 6 ÷ 7 = 19 ÷ 2 = 10÷ 10 = 4 ÷ 14 = 14 ÷ 19 = 11
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Quest ce que le cadeau  I  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
68 ÷ 17 = 4 180 ÷ 15 = 12 96 ÷ 16 = 670 ÷ 14 = 5 143 ÷ 13 = 11 200 ÷ 20 = 1066 ÷ 11 = 6 221 ÷ 13 = 17 39 ÷ 13 = 3156 ÷ 12 = 13 171 ÷ 19 = 9 195 ÷ 15 = 13160 ÷ 20 = 8 27 ÷ 9 = 3 60 ÷ 10 = 6190 ÷ 10 = 19 108 ÷ 6 = 18 156 ÷ 13 = 1249 ÷ 7 = 7 10 ÷ 5 = 2 285 ÷ 19 = 15162 ÷ 18 = 9 195 ÷ 15 = 13 112 ÷ 7 = 16255 ÷ 17 = 15 198 ÷ 18 = 11 266 ÷ 14 = 19306 ÷ 18 = 17 28 ÷ 4 = 7 78 ÷ 6 = 13144 ÷ 9 = 16 361 ÷ 19 = 19 192 ÷ 12 = 1680 ÷ 10 = 8 121 ÷ 11 = 11 48 ÷ 8 = 6224 ÷ 14 = 16 44 ÷ 11 = 4 117 ÷ 9 = 1312 ÷ 2 = 6 133 ÷ 7 = 19 20 ÷ 2 = 1040 ÷ 10 = 4 196 ÷ 14 = 14 209 ÷ 19 = 11
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